
ETKA

Model

TOUA
Year

2004
09.10.2006MG

0
SG

35
Illustration

035-10
Restrictions UPD

616
 9:07

EPIS 274et_bild.frm



ETKA

Model

TOUA
Year

2004
09.10.2006MG

0
SG

35
Illustration

035-10
Restrictions UPD

616
 9:07

EPIS 274

Pos Part Number Description Qty Model

Page: 001

Remark

aerial
F             >> 7L-4-120 000*

   1   7L6 035 507 H aerial
for vehicles with telephone
or
for vehicles with preparation
for telephone

1

  (1)   7L6 035 507 J aerial
for vehicles with navigation
system

1

  (1)   7L6 035 507 J aerial
for vehicles with navigation
system

1 "MEX"

aerial
F 7L-5-000 001>>

  (1)   7L6 035 507 G aerial
for vehicles with navigation
system

1 "MEX"+7Q2,
7Q8

  (1)   7L6 035 507 H aerial
for vehicles with telephone
or
for vehicles with preparation
for telephone

1

  (1)   7L6 035 507 J aerial
for vehicles with navigation
system and telephone

1

switch-over box for aerial
amplifier (diversity)

 (14)   7L6 035 530 A switch-over box for aerial
amplifier (diversity)
for models with tv reception
and diversity window aerial
F             >> 7L-3-002 057 1

 (14)   7L6 035 530 B switch-over box for aerial
amplifier (diversity)
for models with
diversity window aerial

1

 (14)   7L6 035 530 B switch-over box for aerial
amplifier (diversity)
for models with
diversity window aerial

1 "MEX"

et_text.frm



ETKA

Model

TOUA
Year

2004
09.10.2006MG

0
SG

35
Illustration

035-10
Restrictions UPD

616
 9:07

EPIS 274

Pos Part Number Description Qty Model

Page: 002

Remark

 (14)   7L6 035 530 C switch-over box for aerial
amplifier (diversity)
for models with tv reception
and diversity window aerial
F 7L-3-002 058>> 7L-5-130 000* 1

 (14)   8E0 035 530 switch-over box for aerial
amplifier (diversity)
for vehicles with navigation
system and tv reception

1 "J.."

securing parts for change-
over box (diversity)

  15   7L6 035 210 bracket for switch-over box
and/or control and receiver
unit for remote controlled
auxiliary heater
for models with
diversity window aerial

1

  20   N   015 453 1 snap nut B4,2X13,9X12,7 3

  21   N   905 148 01 hexagon head panel screw 4,8X16 2

  22 + N   906 661 01 cable tie 4,5X200 1

  23   N   909 359 01 oval hd. csk. self-tapp. screw ST4,2X9,5 3

  24   N   909 706 01 speed  nut ST4,8 2

aerial amplifier

  30   7L6 035 577 P aerial amplifier 1

 (30)   7L6 035 577 P aerial amplifier 1 "J.."

aerial amplifier
for models with
diversity window aerial

  30   7L6 035 577 P aerial amplifier 1

 (30)   7L6 035 577 P aerial amplifier 1 "J.."

 (31)   7L6 035 577 Q aerial amplifier 1

 (32)   7L6 035 577 R aerial amplifier 1

 (33)   7L6 035 577 S aerial amplifier 1

et_text.frm



ETKA

Model

TOUA
Year

2004
09.10.2006MG

0
SG

35
Illustration

035-10
Restrictions UPD

616
 9:07

EPIS 274

Pos Part Number Description Qty Model

Page: 003

Remark

aerial amplifier
for models with tv reception
and diversity window aerial
F             >> 7L-5-005 140*

 (30)   7L6 035 577 F aerial amplifier 1

 (31)   7L6 035 577 G aerial amplifier 1

 (32)   7L6 035 577 H aerial amplifier 1

 (33)   7L6 035 577 L aerial amplifier 1

aerial amplifier
for models with tv reception
and diversity window aerial
F 7L-5-005 141>>*7L-5-130 000*

 (30)   7L6 035 577 F aerial amplifier 1

 (31)   7L6 035 577 G aerial amplifier 1

 (32)   7L6 035 577 H aerial amplifier 1

 (33)   7L6 035 577 L aerial amplifier 1

aerial amplifier
for vehicles with navigation
system and tv reception

"J.."

 (30)   7L6 035 577 M aerial amplifier 1

 (31)   4B5 035 225 B aerial amplifier green 1

 (32)   4B5 035 225 C aerial amplifier black 1

 (33)   7L6 035 577 N aerial amplifier 1

wiring set with interference
suppressor
for models with
diversity window aerial

  35   7L6 035 570 B wiring set with interference
suppressor
F             >> 7L-5-041 525* 1

 (35)   7L6 035 570 D wiring set with interference
suppressor
F 7L-5-041 526>>* 1

et_text.frm



ETKA

Model

TOUA
Year

2004
09.10.2006MG

0
SG

35
Illustration

035-10
Restrictions UPD

616
 9:07

EPIS 274

Pos Part Number Description Qty Model

Page: 004

Remark

securing parts
aerial amplifier
aerial

  40   N   030 400 1 rivetted cap nut M6/0,7-3-E X

  41   N   102 261 01 cheese head bolt M6X16 X

  42   N   908 949 01 square head bolt M6X14 1

  43   N   910 066 01 hexagonal nut M6 2

et_text.frm


